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03 BEHHER & 21, 000 21, 000 5,000 6,500 15, 980
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= = 15,835, 913
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= = 15, 835, 913
10 AFE 39, 205, 000 - 39, 205, 000 14,877,000 2,561, 757 1,721, 235
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= = 2,680,148
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- - 818, 760
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08 E AR ER 672,000 = 672, 000 95, 000 29, 235 1,563
= = 93, 437
Hx R EWMEFAR #“MEE MEAHE argd) HEpAHR 1 109/4/9




ST FEE QNP

& Btk

P HERERI9F1A18 £10943R318 A : 238
P b B # PATE
i i o FATE
48 = £ 3
RIBEHR B oTAHAE FAEBRHK P
L E A Ak 2 AR ik (0)=(1)-(2)-(3)
i8R 3 @ A i Rerspanior
SEILE: A - # & % S X
F—TaHEe PSS
54EET I JEA#(3) e (A2
138 T
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- 5 4,048,102
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